
 

Example #3B:  Partner #1 
Domestic nonresident partner with a 25 percent interest 

Domestic nonresident withholding and flow through withholding 

Line 1: The total amount subject to withholding is the nonresident 
partner’s distribution of California source income plus the partner’s 
share of the total amount subject to withholding shown on the Form 
592-B given to Partnership C. 
 
Partner’s total amount subject to withholding: 
 
   26,000.00  (Amount of California source income for this partner that  
 was withheld upon by Partnership C) 
+ 24,000.00 (Allocable amount of flow through income subject to  
 withholding for this partner ($96,000 x .25))   
   50,000.00 (Total amount subject to withholding for this partner) 

Line 2: Enter the total amount that was withheld from Partner #1’s distribution plus the 
amount of flow through credit that was allocated to Partner #1. 
 
Partner’s total California tax withheld: 
 
   1,820.00 (Amount directly withheld by Partnership C from distributions to this  
 domestic nonresident partner ($26,000 x .07)) 
+ 1,680.00 (Allocable amount of flow through withholding for this partner ($6,720 x .25)) 
   3,500.00 (Total California tax withheld for this partner) 


